Representations of data - Answers
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1.

Question Scheme Marks
Number
2. (a) Width (w)=4cm | Bl
Areas: 16 cm’ represents 32 offices (o.e.) or theirh = 6 (3sf) Ei x0.6 | Ml
their w 32
So height (7 )= 1.5 cm Al
(3)
20 5
(b)| eg (45)+=—x5 or (50)-——x5 (oe); = (£)49 MI1: Al
25 25
(2)
['.
(c) 20 _a0 =(£)49.11 (orbetter) (Allow 42 491) |MLAI
90 90 9
(2)
(d) %—f ~J106.8487... . =10.3367 = awrt (£) 10.3 MI, Al
(2)
(e) | Mean = median so distribution 1s symmetric (no skew or very little skew) Blft
[Allow mean = median or k(X = (0, ) (£=0) so +ve skew 1f compatible with
their figures] [If using quartiles we must see (1 = 44.0 and (3 = 55.5 used]
(1)
(f) | Symmetric ( or little skew) so normal (or Rika’s suggestion) may be suitable Blft
(1)
(@] & —30_ 8416 [N.B. use of (1 - 0.8416) is B0] | M1, Bl
c= 58416 =(£) 58.42 awrt 58.4 Al (3)

[14]




Notes

(a) | M1 for a correct calculation of areas 1 cm® = 2 offices (o.e.)
Al forh= 15 cm (Correct answer only 2/2)

(b) | M1 for a correct expression without end point. Allow “n + 17 so e.g. (45)+%2x5
Al for 49 or, if ( n + 1) used, allow 49.1 (Correct answer of 49 only 2/2)

(€) | M1 foran attempt at zq;,ji with at least 3 correct products of Zi} or 4000= EI_} =5000
Al for 49.11 (Allow 49.1 from correct working) (Correct answer only 2/2, 49.1 only M1AO})

(d) | M1 for a correct expression including -qr, ft their mean.  Allow use of s
Al forawrt 10.3 Allow s = awrt 10.4 if clearly used. [NB use 0of 49.1 gives 10.389 = Al
(Correct answer of 10.3 with no working 1s 2/2)

(e) | Blft for reason and “symmetric” (or other correct) statement [Allow positive skew]
Allow ft of their (b) and their (¢). For “symmetric” need |f —Qj| < “correlation” 1s B0

(H | BIft Suggest normal is or isn’t suitable with suitable reason based on (e) or mean and med

(g) | M1 for stand’ing using “c”, 50 and 10 and setting equal to + z value where 0.84 <z <0.85

Bl for using z = + 0.8416 or better (calc gives (.8416212__) in standard’ attempt e.g. fi0 for 10
Al for awrt 58.4 (accept 3sf here) (Ans only of awrt 58.4 is MIBOAL but 58.416 or better is 3/3)




